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Cathode-ray oscilloscope consists of ____parts. |
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Write short answers to any FIVE parts.

ez ke 8 -
vJﬂUJ.JUL.vPg}:A,ﬁ-fL‘.’_-Jlfglrd.!fuﬂjdu&'}:.i_-;ull; (i)

If the length of a simple pendulum is doubled. what will be the change in its time period?
Define restoring force. S A i
Define diffraction of waves, & .?,;{}’Q;E)EJJ{: (iii)
What is meant by SONAR? ?.:-_:yl._ffc:_;i:r (iv)
eSS =S4 )

What is the difference between the loudness and the intensity of sound?
State Faraday's law of electromagnetic induction. -éugu:’ﬁ'b’g;’}l.@?:}‘?w’a_iyé {vi)

What is meant by A.C. generator?

Define the term mutual induction.

Write short answers to any FIVE parts.

What is the difference between principal focus and focal length?

What is the difterence between converging lens and diverging lens? e J;’E-:.F' e =P AL
Write two uses ol compound microscope. = f._. _,,C,,C“ :v- (i)
What is meant by procedures in (CBIS)? ._/Qd.‘.'_zﬁ/.g_)g\: (CBIS) (iv)

'hat is ¢ ? e ind ()

What is computer?
What is the difference between magnetic disk and hard disk? @H_} Ll J.JL:!'.J; .JeJ:' (vi)
Define penetrating power. & -5'5-. ..g,)’,.,.u;w"/lf (vii)
v Ao A i)

e lfiﬁ?ﬁpl?lél.a.sf

Q=73 C= 100uF o v 50 /n (i
-r‘.é‘fxf#:ﬂf"!fu‘uf 2 el :f‘i’ (i)
e e AL e 20 i)
& SE PSSO (i)

What do yvou know aboul electrostatic air cle

Define electromotive force and write its upi

Convert 1000 watt hour energy in uI -_‘éut.yw..;g)ﬁ;ﬁ/-'m_-;10!){] (v)
Write the importance of fusgin electric circuil _.;T’{;,;:.-:”.-'J};é u':c.r";—'_.';;gl:ﬁfr' (vi)

d DAC? e JAVR [JAC A ADC (vii)

What is the difference betw
SpE S ive o PPl X=A B U (viii)
How can you comp; 2 loghe operation X = A . B with usual operation of multiplication?

A 09 Ly fe il e tirne 3f pdya aias
art - II. Attempt any TWO questions. Each question carries 09 marks.
ool 27 Lol F0E (L
State the laws of reflection of light. Also explain the types of reflection.
# < & < -
ge=10ms™ G gm=ge/6 /] ?Jﬁgdg; -"',E'Urr)’%u” ?dﬁl‘(‘j?&;;}:jJV'J?_,:J-_A?E.EI-}(rFH):\_:';JJV (i)
The time period of simple pendulum is 2s. What will be its length on the earth? What will be its
length on the moon if gm = ge/6 where ge =10ms™2.
Describe briefly the hazards of household electricity. _é-.-ﬁ' D:f/ﬂd’w}’;i J—L}aliff ()
Sty cund E0p 6L 00m Ty e ISTS 08N piend ZucEkin (L)

The force of repulsion between two identical charges is 0. 8N. when the charges are 0.1 m apart.
Find the value of each charge.

Define nuclear fusion.

Write short answers to any FIVE
Iy =50v and C = 100uF, then Q=7
Write any two characteristics of parallel ¢

e kA S S AL s ()
What are the three universal logic gates? Give their symbols.

62 Lo, TSI 26 —eJu5.25 S 60-2I K ks (L)
Cobalt-60 is a radioactive element with half-life of 5.25 years. What fraction of the original sample
will be left after 26 vears?
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